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38. Since V - J (7"') = 0, we can write the current density J(7) as the curl of a vector field
1/’( 7). Use J(r) V x ¢(F’) to show that

f AV [edi(7) + 250 =0 -
L= f‘n/g(x,e JJT(F) + XJ‘UV/;(F‘)}

T f/V/{’Se[?*V_’?»ﬁ]j + %f?xﬁ?) }
Te

€=l fe=g

Lile |
2 Z = =)
y AV e Sick o 7,&;(") ki g 22- }ﬁ}':jj
I}, 7L65Yﬂ/7(€ eczcé 'ferm é/v ,Dﬂrf_(' ﬁf—r/ &se ’/4@ {;//DW/‘?j;(

SV %o 3 Fiew = [V 2oL, toew ] [t P
= —SV Foew Lo

7%2 7(°7Lq/ /é’)"iva/f'ue 7(€Vm Ae(omp; @ Savfece /lv/i?j"@/
whiel 1ranShes 4/ the Stcodord Prsesmon s

B = /«, J/V }/ J;k O‘Z Seit J.é}%f(ﬁ)
yﬂ/l/j(éfk 1 'k}%’(?)- | e

Sihep| &, 7‘9’*&/? a9 €isymm etric

%
P9) A

10~ 8



